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Note : This paper is of sixty (60) marks containing three
(3) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section—-A / Gvs—h

(Long Answer Type Questions) / (€T IR T%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. What are the objectives of Monetary Policy ? Describe
its chief instruments.

Afed AT & It 39 ¥ B E ? e W@
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2. Discuss the present state of public sector in India.
Identify the causes of its unsatisfactory performance
and suggest measures for improvement.
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3. What do you understand by population explosion ?
Analyse its effects on Economic growth of an
economy.
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4. Explain the system of Panchayati Raj. How can it help
in accelerating the pace of rural development ?
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Section-B / Yis—Yg

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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What are the causes of rural indebtedness in India ?
YR H Y07 O] @ BRY DIF-di 8 ?

What is the role of small scale industries in the Indian

economy ?

G SaRe § AY BRI Sl @l R/l

T § ?
What is the white revolution ?

wId ifd @ g ?

What do you understand by Balance of Payment ?
YA el o Y T e & 7

What is Disinvestment ?

IGIRCE

What is Swarna Jayanti Gram Swarozgar Yojana ?
WUT STI=IT T WRIOATR IS a1 % ?

What are the sources of rural finance ?

I o7 & I BIF-dH A & ?

Define liberalisation.
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Section—-C / Gue—T[
(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

qre

questions of one (01) mark each. All the questions
of this section are compulsory.
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Indicate whether the following statements are True or False.
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1.
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In present Industrial Policy is based on the Industrial
Policy Revolution, 1956. (True/False)

IRA P oA s wifd, 1956 @ Sfenfid A
W IR 2 | (AT /31

India ranks second in the world in terms of population.
(True/False)

SRR @ gfte AR 3T v § R M B
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Depression in industries is an effect of inequalities of
income. (True/False)

SENTT & <l 3T B SIAHAT bl GRIH 2 |
(9 / 3reica)

The share of service sector in India’s national income
has been increasing recently. (True/False)
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5. India is a stagnant economy. (True/False)
IRT T ReR FfaraRen & | (A / 39)

Choose the correct alternative.
el fdded gy |

6. Indian economy is a mixed economy, because :

(@) Agriculture and industry have simultaneously
developed in India

(b) Agriculture and industry have developed in the
public sector

(c) Private ownership and public ownership over
means of production exist

(d) None of the above
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7. Which of the following factors is not responsible for
the low productivity in agriculture in India ?

(@) Use of traditional equipment
(b) Uneconomic size of holdings
(c) Debenture on Monsoon

(d) Lack of fertilizers
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In which of the following states birth rate is found to
be the lowest ?

(@ Andhra Pradesh

(b) Kerala

(c) Tamil Nadu

(d) West Bengal

frforRad & 9 foa o0 § SR Ea © ?
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In which of the following stages of demographic
transition, the birth rate registers a sharp fall ?

(@) First

(b) Third

(c) Second

(d) None of the above
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National Bank Agriculture and Rural Development
(NABARD) was set up in the year ?

(@ 1956

(b) 1981

(c) 1982

(d) 1991

AT B T I [P 6 FefaRad § | e
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(31) 1956

@ 1981 #

(@) 1982 #

(@) 1991 ¥
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